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In n triangle, valyea of all the a
n

rora (in ¢ gles are
integers (n tegree measyre). Which ane of the

following canne
' be the propeirtion of their

measurea ?

(n) 1:2:3
(hy 3:4:6
(c) H:6:7
’
(y 6:7:8 QW Ui
A7
W2t
2, ', Tholengitiof ar “_t"i‘gl_‘-'j'_ipg_egsﬁ'ﬁdﬁ”
and breadth is decreazed by 1077, r
area of the new rectangle is ’
(a) neither increased nor decrease 6.
(b) increased'by 1%
‘W/ decreased l;y 1% %%
(d). decreased by 10%
3. The surface areas of the
ratig 1 : 4. What is the ratio of their volumes 2
(a) 1:16
® - 1:12
(c) 1:10 o
1] N,
(d) = =
Do ]
2 |7
4. The length breadth and height of a bnck are
20 cm, 15cm _and 10 cm respectively.
mf bricks required to construct a wall
with dimensions 45 m length, 0-15 m bre:a’dth
and 3 m height is
‘-/
(a) 12450 /
(b) - 11250 _
)(;VB750 /
(d) None of the above @
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[f the sum_ oA BJ interior_ a_‘gn of a regular
Vrljzrfﬂ,r',_tzru_zhe_mm_r/rjsl ita exterior

!)pgkg_lkfn the polyzon is

Hexagom

(by Octagon
(¢) Nonagon
(d) Decagon

3990 _revolations in

movinglllun.Whatxsmeradmsdtbe
noving 11 XT

A bicycle wheel makes

A Bt
Thevolnmes%twownesareintberaﬁolui
_and their diameters are in the ratio 4 : 5.
What is the ratio of their heights ?
(a) 164 ’ é‘

A~ _J
7%%

i
h .27

(b) 16:25
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2 B = 00° 3
ADZ =08, ZACD

SR ABCD 1§,
AB2 4 BC?2 + CD2% -

s su_t e ?
) 30°

' 7]
»  60° =
(b ] /
(c) 90°
@ -~120°
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JC 2K
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=1 fgurss AD 2 |ﬂﬁBD_4cm% @ DC

(@ 2cm | ég/[
(® 3cm | 3
(© 4em 2[/1//}( ’
d 5cm A =K

N
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In/n trinngle ABC, irz.{/\=345~ozc

——
enwhatisZA+ /¢ equal to ?

(n) 90°

/g,?/ 120° g ’U
(c) 136° ’
(d) 160°

9. If the perimeter of a circle and a square are

equal, then w},}at is the ratio of the area of the

B34

-
circle to that of the square ?

(a) 1:m
b) 2:m &C”
(¢ 3:m

The lengths of the sides of a right-angled

triangle are consecutive even integers (in cm).

What is the product of these integers?

-
Y

, 60 - T
AT 6 . g} o
s AL
® ' 1200 -
gy
- () -360 W
/Vl
d) 480 —
T,
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13.- :ABCD is a cyclic qud

11. In a quadrilateral ABCD, £B = 90° and
ABZ + BC? + CD? - AD? = 0, then what is
'A?\CD ual to 7
(a) 3:>d
b)) 60° (
(0 90° = 26
(d) 120° 3
o=
12. In a AABC,AC=12cm, AB =
is the bisector of Z A. If BD = 4 cm, then what
is DC equal to ? ,
L7
(a) 2cm /
Y A %
é /Qﬂ/ 3ecm . Z
— )5t
© 4 I +3 =)
@ m gy YRHIEET
(d 5cm @ M g
x5 7

ateral. The bisectors
ofthe angles A, B, C and D cut thé circle
at P, Q, R mm%at is
ZPQR + ZRSPequal to ?

(a) 90°

() 135° _ /;f

(c) 180° ( &

@ 270° [/[ o )@
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@ 180 cm? 7% |
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14, ADBC is an equilateral triangle. The sice BC jg|17- How many solid legg_llglls eac-h of diameter
trisected al D such that e - 3 BD. What is 2 mm can be made from a solid lead ball of
the ratio of AD? to ABZ 9 , radius 8 cm 7
@ 7:9 (a) bH12
b 1:3 (b) 1024

600
L b gr Mféoopé
3 Y
18. The two sides of a triangle are 40 cm and
’ 41 cm. If the perimeter of the triangle is
der th ing —

15. Consider the following statements : 90 cm, what is its area ? ,J

1.  The diagonals of a trapezium divide each (a) 90 cm?

other proportionally. (b) 135 cm? (_/
2. Any line drawn parallel to the parallel () 150 cm? Q C 3 (39

sides of a trapezium divides the| d) 180 cm? f} ‘

-non-parallel sides proportionally.
Which of the above statements is/are correct ? ° dlt:g or;als :fe: relioml:;:;s ;d;ﬂ'er by 2 :T}:’s
. sperim cee e sum o e
(a) lonly é? agonals by 6 units. What is the area of the
() 2only L oM Ehgmbug S 4
( ; " - Cfo (a) 48 square units A p 7 2

(b) 36 i - '
(d) Neither1 ﬁ 2 5 l SRR A B i
\_ { . (c) 24 square units ; l
¢./ 7 //6( (d) 12 square units ’

16. If H, C and V are respectively the height, _ . ' L{C{ D‘f‘%{’é
curved surface area and volume of a cone, then 20. What is the area of a right-angled m@.&
what is STVES + 9V‘2 sopi a]to" the radius of the circumcircle is 5 cm and

. A altitude drawn to the hypotenuse is 4 cm ?

ol 2172
g B . L,\\ (a) 20 cm? I
) 2C2%H2 —

Vo ® 18 cm? o=
( 272 . M -
c) 5C*H

(c) /(12(:512 L % J/l:?
@ 722 1/ ( + (d) 10 ﬂ(f)ﬁ e Xa;:
cm?
f 2 A
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(a) 50FTE /p . HIhd % SO ]
(b) 55%H1S ; (@ Bys PAB w1 &=wd, Fys PAC *®
PRI -a‘t‘mé
" (c) 60 FHTE (_/ i :
’ : ' (d)ﬁgapmw%mﬁﬁﬁmcaﬁ
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e B2 S (a) . ‘2.1’.2..9 Y _ . g
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(a) 4. ® = (9—2sin— cos-—) P
; 2 o2 2 ?
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g1, A circle s inﬂcril}!;(’! in a trinngle ABC. It|24.
touches the sides AB anq AC at M and N
respectively. IT O is the centre of the circle and

2z A =707 then what is MON equal to ?
(n) 90‘:

(b) 1007.

7
(c) 110° /\
o ( 25.

(L

g2. The sum of the squares of sides of_a
_sides of

(dy 120°

- ——— —

ﬁg}zt;i_r@ed triangle is 8,450 square units.
What is the length of its hypotenuse ?

(a) 50 units
(b) 55 units ? (O C
(¢ 60 units (" f

/cd—)/és units ‘yf

23.- A-triangle and a parallelogram have equal 26

- I
areas and equal bases. If the altitude of the

.
—

triangle altitude of the

e

is k times the -

paralleldgram,'?:hen what is the value of k ?

(ay 4
e kb B0
) 1 //'?/-’k(/%/ g\/l ‘(D

(@ 1 C

DZOL-T-LKM ﬁ
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: : Z2.pn4
Areas of two squares are in the ratio m= : I

'
What is the ratio of their perimeters 7

(a) m:n 1 2_
(by n:m O‘ 7/}2/7_—-

AD is the median of the triangle ABC. If P is
ge . .
any point on AD, then which one of the
g’
V4,

(a) Area of triangle PAB is greater than the
area of triangle PAC

following is correct ?

(b) Area of triangle PAB is equal to area of
triangle PAC A

(c) Area of triangle PAB is one-fourth of the
area of triangle PAC

(d) Area of triangle PAB is half of the area
of triangle PAC

What is the area of a segment of a circle of
R

radius r subtending an angle 8 at the centre ?

‘ 1
(a) 51’2 0

1 . B 2]
(b) Erz (9- 2sm§ COSEJ

1 . 6 3] -
© Erz [O—SmE cos§) D 6

~ oz
@ %rz sin 3 cos — -Zé_'_'
30@
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27. U® @ ABC ® frad ¢ wt wuwiw R 1 WH |29, nﬁﬁmaﬁ&;mq?ﬁnwﬁﬁ L x N
it fs Ac w =K g P @ alt BC W W zx%laﬁaﬁﬁiﬂﬁx%-“\m
fag 2 | Frefafign === & @ SR 5@ aTEl R 7
'%/?? (ﬂﬂ?ﬂﬁm n:gg)
2 4] - 2 2 -
L A8 +BE = dB PO (@ 11x°
2. AB=2PQ e
. () T2exd s

T fZT T F=2 F T w1 '@ I g ~
(@) Fad1 (c) 44x3
(b) Fad2 (d) 55x3
(c) 13-!‘*(2'&1?”!
(d) FA1TITE 2 o

s0. IR wH AW F Tars, SeE, $91E, 8

% 3R H™ET HHI: p, q, T, s ARt E,

= - % r.1. 1 rmr a2 ?
- TERTE TEE T eas g a s W WA |
- . i _ o
Yrew T9=1 21 TE 9= =1 =99 w4ar 2 | 9% @ 7
= =1 {51 9 591 2% 495 42 em® 2, @
TEsEETI G A2 ? & 2t =
_(r'"'l m’n'—laq ::272.) s
(z) 5em & s
- 5 A6 2t
. by Tem
2s
(c) 10 em (d) _t_
(d)y 14em
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ABC s a triangle right-angleq ot ¢, 1oy p be 29

any point on AC and  pa any point on BC.

Which of the following statements is/are

correcl ?
1. AQ%24+BPZ=-Ap2?, pQ?
2. AB=2rQ

Select the correct answer using the code given

below :
(@ 1only.

.\ D
(b) 2only L

\96\

(c) "Both 1 and 2

b 1

Four circular coins of equal radius are placed

with their centres coinciding with four vertices

of a-§quare. Each coin touches two other coins.
If the uncovered area of the square is 42 cm2,
then what is the radius of each coin ?

(Assume T = %) -

(a) 5cm‘.‘ ’ C{/ ?—tgé

b) 7cm
(¢ 10cm
(d 14cm

(d)  Neither 1 nor 2 30.

T
) é

(11-D)

The radii_of the flat circular faces of a_bucket

are x and 2x. If the height of the bucket is 3x,
e x anc <X

what is the capacity of the bucket 7?
- (ABsume 1t = -2—2)
7
1]
(a) 11x? 3
(by 22x°
(c) 44x>
d) - 55%>

D

If p, g, T, s and t represent length, breadth,

height, surface area and volume of a cuboid

3 1 1 1
respectively, then what is — + E &= equal
p -

(a) : WW{’ ?Q;
& v

® 2

s

/J:”

| ZZ( (A0S0




g1, @ Wl a1 3 160 R 00 @il wmwE |ad, 8 ein 0 -4 W1 apfaEsr e e i

. 5
MWana A 3—“ R 1" W W Wk R o =4

I s -smau R /S § 07 el

\{\ ) 1
(1) g \ﬁ
. 36. AR sin0+cosoe ND) ﬁs Gl
(c) 3 /(% 8in® 0 + cos® 0 + 6 sin? 0 cos? 0 RrEd TR & 7
7
82. F=fafEd sl w faar Hifte . b 53 -
1. o%:mﬁwm_'%;i%mmﬁrﬂm o 1 76 6
2sin?0-cos0+4=0TT R | 7 ' %)(
2. tan0+cot®, 2® W & B ThAT ?, el @ 3 ’/%@
0<B<'21. ; ' (Lrs
. 36. 9 sin?0 + 16 cos? 0 T AW W FT & ?
SEE A IR A E@ g . RS @ //u\[
(a) <had 1 ‘ 0
-— ’ b 9 7
(b) a2 -
© 16
@ 13K 234 .
d 25

| ((i) ??ﬁ'laﬁ{_:{‘g}2
33. T gd ‘R’I‘IEF E\‘?Fﬁmt ass %F@?flaa‘('—ﬁ 2 -qﬁ 37. ‘le?:’ cos 47° + _sin_47° =_k'?f%e?
%mﬁ@ﬁ'ﬂ’ﬂﬂﬁﬁnﬁﬁmzlzoam ‘._‘co§2-47°—-sin2_47° EFI"EHT‘IHQ:[T%‘?
%,?ﬁﬁﬁﬁmmﬁﬁwmo Aok () k\/;? : /I/
o R = 22) 7 . .
‘ ~ \ b) —ky2-k? “
(a) 60 m = - ; -~ . /% / /
"\ (b) . _6._6..1117 > @ i (C) k ’l_kz ’ . / (A

(¢ 75m : )
) 5 .
@ 80m _ d -k J1-k L_7\\/\
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What la the maximum volue of 38in0 -4 7

g1, Tho diffordnco botwoon fy,, nnglen ja 16" and |3
tho sum of tho anglog in radian in O The (n) ~4 /‘
blgger angle ok tmeg 4, nmnllcs:‘ZnﬂMl“- M~ 1 /’
what la k oqual to 7 Q’
(c) 0
(d) 1

(n)

-.l

—

()) }4 7(
%’)L

0t

S

(c)

5
=7
H

D2 ala

(d)

Consider the following statements :

32.
1. The equation 2 8in29 — cos @ + 4 = O is
possible for all g,
2.  tan 0 + cot 6 cannot be less than 2, where
36.
Which of the above statements is/are correct ?
(a) 1only s 71
, Bty
2 only ._,J/
S 4 ~
(c) Both1land?2 y
(d) Neither 1 nor 2 ﬂ

33. A road curve is to be laid out on a circie. Whé

radius should be used if the track is to change

direction by 42° in distance of 44 m ?

(Assume 71 ='272)

U0

« o\

(@) 60m

b 66m @r 5,2‘:

© 75m _

@ 80m W
(13-D)

DZOL-T-LKM

G

‘%9

>

then _wha is

JZ,

-
=

Groeo?)”
Slﬂ(9 { ¢ 572 2S00 H

’52&43 *29&&{(5!)

What is the least value of 9 sin2 @ +16 cos? 0 ?

i

S 3&6330: =
mé»k Qﬁk&"' Ié’_

If cos 47° + sin 47° = k, then what is the value

(a)- O

(c) 16

(d 25

of cos? 47° — sin? 47" ? g
(a) ky2-k? gM’é
N
o r
() -k,2-Kk? &["[/L}( Qyw kZ-(]n'f’a/
)z
(@ ky1-k2 u I ngoﬁ";i%
o ~
@) —ky1-k2 <M WD ?f”f_

“2¢ Sm%f 1€ 2XSh

/L 28mZ e = R
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ss. IR cosec 0 - sin 0 = p3 Ay s 0 — cos O =
a*mmam_mq?m%?

qs

- (@ B

qQ

b g

P

(c) Pq
(@ pig?

s9, Bﬁosmssso~‘3§mt§%cos(u-ﬁ)=l
B, o Sih(t—sinﬁ;\cosu—cosﬁ ==
SqsE? )

L ]

~
s N

®y -1
Ab)
{© 1

@ 2

-

s0. Frtfen St w fraw i -

cos 61° + sin 29° T UF 1 | frs I8 &Y
Thal 3 |

e

-

2. mn§3=—é<;te%=mmoﬁm%|
9 § & SV o T Y
@ Tl
() Fad 2

e 13ﬁ'(2€|=h

(@ TFWM1IRTE 2

-

(14-D)

41.

vz anaell uw wlian A A § 1 R sl §

gl Ieftol € 399 o 0,6, 7,8, 8.9, 6,5, 4
A7 & 1 W dge apafial ¥ ot ) wileEm
TR ?

(a) 6

®). 65

¥ (¢) 7

@@ 75

42. MR 7 @S, Rl ¥ v@s w1 R 13 ™

?, B N N YdeEm (gm ) 180, 191, 175, 111,
154, 141 3R 176 11§ 77, q Yg@n A AfEIH
TR?

(a) ‘111 gm
) 154gm
(e 17:; gm .
(@ 176 gm

43. S wgfv f Fafalea ot § ¥ S

T, fedt gwE § 99 w1 9 @t ¥ ofea
AR I FHwen & fog wgew ) s 2

T (a)i BRI

(b) - U HIEH
et

.-agaa;

(c)

(d)

T ———— T 5 ——

— ’
S g ———

A—

Jm;- X0




If cosec O — sin 0 = ) and sec 0 — cos 0 = q

then n Wihal 18 is the valusgr tan 07
]

P,

8.

(n) ;p{ ‘
/(‘U(

(c)

4

/
p - @
- ; < sn/")

2.2

(d) pq

39. If0 <o, B=<90°such that cos (¢ — B) = 1, then
what is sin o — sin B+ cos o — cos B equal to ?
(a) -1 , /Col ’Z
(b) O 63 _Sﬁ/
© 1 O~
@ 2 @0 s -,f
Sonxim ?
o
| ot 7>
40. Consider the folloiving statements - //C
1. The value of cos 61° + sin 29° cannot
xceed 1.
2 Galro29) V-

2. The value of ta.n 23° — cot 67° is less .
o, T SFA o 0

Which of the above statements is/are co

il
il

(a) 1 only

(b) 2only \h
- )(A

(c) Both 1 and 2 O

})Aeither 1 nor 2

DZOL-T-LKM

41.

42.

Fifteen candidates an

examination. The marks of the candidates who

appeared in

passed inp the examination are 9, 6. 7, 8.8, 9,
6, 5E 4 and 7. What is the rrfediag'of' marks of
all the fifteen candidates ?

If the yjeld Gn gm) of_barley from 7 plots of
\_‘-—‘__-——-_-_‘_
size one square yard each, were found to be

180, 191. 175, 111, 154, 141 and 176, then

what is the memaW

(a) 111gm
ﬂDW ,,_L\‘j%/

flﬁS gm 9{06/ _
(@ 176 gm
c-" ;
43. Which one of the fo |- mg measures of central

tendency will be used to determine the

average size of the shoe sold in the shop ?

(a) Arithmetic mean
. {(b) Geometric mean
(c) Median

yfdj/- Mode

(15-D)



44. w2 @i JauAl W Rmn wur R, @) anm -
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al =1 REn \Q/ g
Xy |
(© 14

n)

Za\n';ﬁa—n%:'inzm’iaﬁangm:z.s.m.m.
80 M 60 T R | 5 =¥ =z vw T WE
ﬁﬂaﬁmaxaﬁ%.vﬁanﬁa\mﬂm 1 afR

H1 OTew 3y arg 1-56 94 =g Il 2, /@ x
HAH =R 2

45.

—

+

" (@) 1
®) 2 o ,U\D()
. Ceo {
‘Q v)\(cL :
(\\5 @ 4 %

</ 9 S

0 et . e V4
46*@%%1‘00%@%@46@
O\, ? 1 1531 A1 afEa awm 50 kg 3t Tefedl @

)

WAl 26, 66, 73, 76, 81, 76, 17, 16, 7, 14 ¥ un,

47,
A= ¥ g N B oqu @sEEE W) My
Amea R 7
(n) =1 g \J‘\
m 0. n7(o' % g
O
(c) 1 (D
(d) 2 : {\(JN
48. -qi9 ﬁ&f‘?ﬁ X, X+2,x+4,x+06,x+ 8% HIYY

R 1 wum 19 Rerolt @ weg T4 R 2

(a) m ()
(b) m-=1 \4‘3< (\ |
(c)* m-2 X Ib O
(d m-3 /\\
- 2,4,6, ..., 100.% mferw = 2
(b) 49 (LJ
() 50 /1/

(‘2 51

b S ) o

aftad a9 40 kg 2 | TTeRRdT @ weE f Gear| 50 T ¥ T e ey
Freaht stfas 2 2 /AD HAA: 10 IR 12 § | ITHT TAMR 77
\ / .
(@ 10 /@Q){ﬁ - £
® 15 N Iyﬁ% b 120
© o N\ (7 @ m oA f'
, :
B et \ "7\0 x‘ﬂ) @ 144 Xf\_)(\ &q‘b / F
{ i
DZOL-T-LKM /%bq(16_o) A 0 f\(( /\yté [
M \ X e b




t“‘a
',ll" hl"uht

representa

94

W‘f“.]l nr ”lﬂ r‘lng

- a
Lower clnan lirnit

Upper claan limijy

(n)
(h)
(c)

(d) Frequency of the

clasg

The ages of 7 fam']y members are 2, 1, @

I8, 4@0 years respectively. After 5 years
a new member aged x years is added. If the
mean age of the Er;ily now goes up by
15 years, then what is the value of x 7

')f, [O[ L}(O

(a 1

el (<
() 3 \,X(’Q/(O ’\,/)( —~
@ 4 /L,'/'g

‘

46.

The mean weight of 100 students in a class is
ﬂ The mean weight of boys is 50 kg and
that of girls is 40 kg. The number of boys
———‘—d———'
exceeds the number of girls by

when the elnaa Interyala have . | /_—\
requnl oy g

nat = n; raic sum of the de V‘_“_“_g'_’_‘;

from the mean rnfn zet of values 25, 65,73, 75,

83,76,17, 16,7, 147
= gl

1-§)
/ =

(a)

(d) 2

48.

[
e megn of five observations x, x + 2, x + 4,
%+ 6, x + 8 is m. What is the mean of the first

three observations ?

® S 2P = 1)
(b) m-1
—T) m-2 o (m
(d) m-3 S‘)L; 20 g f\”/)
. 907(*""/’ “
tis the median of 2, 4, 6, ., 100 ? 9 =

(@) 48° '37[-4'49 —

() 49 3

@ 50° @TZ‘(’Z 4 :
AT 51 = Z

50. The harmonic mean and the geometric mean
of two numbers are 10 and 12 respectively.
What is their arithmetic mean ?

'’
£ err20 ="

25

(a) 10

& 15 - Séoc?_wéf/m
o g <G

d 25 % =
DZOL-T-LKM

4o

20N

(17-D)

(c) 11 ?CZ
(d 144 <7
600

v OC60




51. xY+ x?+ 16, WE x @& v quils R, x 464

.Th;ﬁwmélx%@wﬁ#uauﬁrﬁ
e R |
(@ 3
® 4
© &

d 6

52. (a, b, ¢c) ¥ §&AT foraft 2, &l a, b, ¢ HATHS
QUi &, 39 WHR % abe = 30 ?

(a)) 30

Ty 27 . b
@ 9 | . U[DM ()/
@ 87 -~ ’ 1/C\ﬁc i 3

B4, WHAF x + y 4 2 = 12, w6l x Y Ntz SRED
wteh il R, & frw wel ) e o R

(a) b3
(Y b4 .
© {5
(d) b6

55. ﬂﬁl:n2+b2+c2é.3ﬁn3ﬂ“(bmw

%ﬁ(c:nb%,ﬁlﬂ%?
?wﬁwaﬁtuﬁ@wﬁwaﬁ?ﬁ
wF fen e o 7 Th s w1
s

(¢) U 9 quiish w1 a1

@ T Faw e e

v(a)

(b)

56. afk TEAT 23P62971335 TgaH faww WA g
A 2, M PF A AR 7 |

(a)

o % |
SRR e

e (c)
o 1
IRV
iﬁé 04
7 : 15+25+35+ 5+55E§3}£}%ﬁ‘mﬁﬁf
FE T T A9FA ITH I ?
L ah i (a) O - l
v 10 e b 1 | A
1 \/\
@ To000 @ 2 :
d 3 o
ZOL-T-LKM (18-D) P
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N
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6l M fa exnctly divisible by x, where x ia | 54-
a positive -i_ﬂtf_&r(‘r. The number of all such equation x +wheru each of x, y and
possible values of x g z is a positive integer, is
1e8 00 ——
4 (a) 53
I Cat 7/(8(7641)-}” /< (h) B4
) 4 G(ZH 8) () 55
© b 2’ ’r) (d) 56
(d 6 7 — /’
= 55. If 1 = a2 +b2+c2, where a and b are
—_— et —
z consecutive integers and c = ab, then 1 is
ber and it is not f
2. The number of (a? b, F)' eleraen, Desand (a) 3 ::er;:rum er and it is not a square o
positive mtegewat abc = 30, is (b) an odd number and it is not a square of
" an integer
(a)' 30
“ (¢) square of an even integer
(b)A 27 | \ (d) square of an odd integer
© 9 $ : ~§ . (3}'4
@ ’:8 - 3 56, Ifthe number 23F62971335 is divisible by the
e s (l/v\ ﬁ; smallest odd composite number, then what is
' the value of P ?
W
2
53. If the . roots of the quadratic equation = \/l — %
x? — 4x —log;) N = 0 are real, then what is the| (P 5 ? g
minimum value of N ? Q j\} } O € 8, - @ 2 }f/
A (G977 aearrg’,
(a 1 O o~ L ld\j = A =
e [e |
(b) 10 { /6’% l/l pj ’5'7'/./ {’1162 is' the remainder when the sum
Db"-/ 15 + 25 4 35 4+ 45 + 55 is divided by 4 ?
1 oy Soll S
’0%\/ 1 \ 4 32 e
@ — o8 © 2 }
10000 -
/7 B AN 7
)ZOL-T-LKM (AIDL (19-D)

The number of different solutions of the




g8, 3" % g T W WYH-HT IS B Y

01, uw gwEar are) sl W FTG WA E gy

Ly Aum R AR U gmum que, W wE
(n) 1 \’_W’:
?Lr/‘ &D /)/ N 800 gm * & 1000 gm TFHA zatm R \
b 3 ‘4/\/\ Or @f/&ﬁg Frafas v v wn R 2
© 7 f)C £ ?&\ \) @) 20%
@ 9 N M) 26%
\/\’LCD (€©)  30%,
d 40%

59. & wEArRdl T LCM 3% HCF ¥ 28 71 2 |
HCF 3 LCM %7 Jrea 17402 | 3} 3= 3}

: 62. TH 3 m 7D 3 40 m NE T 2 kmvhr B
TF W 2407, 1 gwlt g w1 20 [ FEd @ I wg A fiedt 2 ) o e A o
C(a) 420 \}\"0 T8 | gz d iy a & T e & =
- %? llﬂ -
() 640 ( \} | : =60
_ /Z 0\ (a) 40,00,000 T . /‘7 /b
© 820 e L | : 4
_ T/“}/ (b) 4T00_,000Fﬁ'a- : 4 /\\ Q
@ 1040 h A o 40,006 e . ( i]//
/2& (d) 4,000 X \f),_ 5 L)ﬁ
7 &)
. PRl 4
5 . . a 15 ‘ ,
% mna,mm(xn_an),(x_aﬁ,’g R w Sefifom e T < de o 3, @ 289
ﬁﬂ]‘ﬁf%,i‘lﬁx¢a%—? g ’ e X - ’ o
: CH A AR R AR gy § A R, @
(a) ¥&F g §&An % g 12%@?{:}#@?11%| v x T ST FR 2
L) Ha9 o4 FH P FE 0 F fqn @ 41:9
0. 5 'P\ : - .r - 3 — . 31:9 - W
T (@ Had T4 [ T e 0 F fag ) 1 /V( |
: (c) 23:9 /
© (@ I FEH I T 0 F fag G, 1B q/@ .

DZOL-T-LKM
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What 8 the digit in g unit place of
e of 3*
|
U (C’q
m 3

7 T
e /c

a1 'l

61. A shapkeeper rells his articles at their cosy
arnticles at_their cosl

price but uses a faulty balaoce which_gead

1(me_}&axmvafl}a_wﬂﬁt

percentage 7 @
(a) 207 é’ IC /
f

(m) 1

__Q\J\\

L 2%, z
( 9 ‘
(c) 207 \//(_
(dy 40%
9. LCM of t% 28 times their HCF,
W and the LCM is 1740. If
6 'erzmdeepandtl()mwideisﬂovﬁngat

one of these numbers i 240, then what is the

other number ?
o (L = M
: [EN =]

B 640
¥ I - 34D ® 400000litres
@ S 28 UCF (© 40,000 litres 7@ 3
5% (d) 4,000 litres
|0 /;2\_ (,W )
/
e

60. (x/"b;l/ divisible by (x - a), whe
every q//l : i lo E F

Mural'mu;ber n %

(b) ‘even natural number n only

theratgof‘lkmlhrandfal]smtothesea.

What is the amount of water in litres that will
fzll into the sea from this river in a minute ?

Qa) 40,00,000 litres

-

-

-

63. If a television set is sold at T x, a loss of 28%
-_’-—_—-__ -

would be incurred. If it is sold at ¥ y, a profit
._——"_—_——‘ -
, of 12% would be incurred. What is the ratio of

ytox? V\m\ L/(
(@ 41:9 7 /g |

, () 31:9 % % l
(&) odd natural number n only

g (d) prime number n only f) C <

DZOL-T-LKM
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1

WSOOkm?ﬁiﬂqgéawmmmﬁ aﬁqm/ﬂmﬂ%/ﬁ?

Ham%lwfrmmmawaﬁ?

i

1. x2+y? x’-yz'%mﬂmﬁl%
(a) 45 kemv/hr 2 %’y%wg
() 50 ken/hr s O i W N
=SS 1 fa 70 gz 1 i W I gy |
(@ 75 km/mr (@) Fad 1 3fiwe

(b) S92 3fT 3

] '(-c)?%ﬁﬁ'i-
65. #m%%:%;é%mﬁﬁm _ (d)‘ 1,2 33 ?;‘ZSLJ

(4
) ' (© 2339 /

(d) = 36500 . : .- - d 2234




. By increasing the spead of hig cap by 16 km/hr,

a person covera a distance of 300 km by taking

an hour less than befgre, What was the

original speed of the car 7

(n) 46 km/hr 73

(b) 50 km/hr )0

Mkm!hr,b'
@ 75 kavhr

e -Zo |

A ;l}rl(

—

. Three persons efa.rt
Italsmtheraho%

1

: —. The first
5

_"'__"“'“-—:—("‘
” withdraws half his capital after
4 months. What is his share of profit-if the
——
business fetches an annual profit of T 96,800 ?
(a) < 32,000 N
(b) < 34,500 Q R
(e¢) T 36,000
(d) < 36,800
OL-T-LKM (23—

“a business-. with

66. If x variea a3 y, then which of the following

=LA

izfare correct ?

1. 22+ y% varies as x% — 52
""‘r
2. varies inverzely azs 7
b
S
3. Q“xzy varies as 2'3,"1472
—

Select the correct answer using the code given

below :

(a) 1and ?cm]y
(b) 22and3only
(c) 3only

?

T (@ 1,2and3/ﬁl

//

Ena was born 4 years afier her parents

Vs

67.

marriage. Her mother is 3 years younger than

herfatherandz-ivearsoldsrtha.nEnz,whob
I

Bvea::uliAtwhz:ta_ ge did Epa’s father get
i

married ?

.——'—._—_-——/

(a)-

25 years

{b) 24 years




a2 172920 =) 18 A fafm Pem A R, gy |

68, HeW # MY 60 T R | vm, pRw A 5 1 A N Y
2T A 4 Td =71 R | A, oq W O W
(n) 1

- B IM 3wd 6 ol TR R | wRm afe =g A 9T

f o oiT 2 M 2 %/ 3/()/’,\_) /2,

(a) 1894
® 15 W 1 ﬂ — | )
-~
(¢ 13a4 fs‘ )
(d 1134 B — G
1 1 1 —~ 1

72.

69. UF I § Igwi f vem N2 | g 96 1§
T HE A x% H giz B & o v 96 <

PRI I I S r A X B T
FHR L2

"?Eﬁﬁm%raaﬁma}angﬁﬂﬂﬁ @ 1 | é‘o
IZE I FEE =T B o s ' %(
(a) N#Fn 0{6 © 9
(b)) NF TUR / ) 10 |
(€ N 3ftrs - [L?% " : )
Vv

5 . ( .

(d) FENF °F W Rk =i 2 , o qﬁxm=1m%,ammm~w%?

70. IfE ab + xy — xb = OSﬁ’Ibc+yz—cy 0 By dl ) 1
_+;Fm'-easauat%? //7 \9 /&a :
){M

a

U

S

Y
b M/ .
s 0 (/ @ 2
% WOh T
(0 1 : ' 3
A 7 :
@ 0. @ 7
DZOL-T-LKM (24-D)




08.

69.

. (e)

Mahesh ia 60 yeara o1q Ram
d.

in f yeara

younger to Mahesh ang 4 years elder to Raju
Babu is a yf)llngt}ilztbérnof Raju and h_‘? is

G yeara younger., What ia tHn age

difference

between Mahesh and Baky 7

(n) 18 years

t,’g_b)f’lb years

(c) 13 years

(d) 11 years

The number of items in a booklet is N. In the

first year there is an increase of x% in this

number and in the subsequent year there is a

decrease of x%. At the end of the two years,

what will be the number of itéms in the

booklet ?

Ms?s than N

(b) EqualtoN

More than N

(d) It depends on the value of N %-

71.

72.

70. If ab+xy—xb=0 and bg+yz—cy=0, then
whatis —+— equalto? ‘-~@
a z 7]
y
(a) b [/
®» 2 @2@,
el = e Lb
01 gl 77
C/a '
@ o 7.7
100~
ZOL-T-LKM

g

(25-D)

If 172729 ja divided by 19, then what is the

-_—
remainder 7
—’/—_
(a) 1
(hy 2
(c) 16
(d)y 17

What is the value of
1 1 1 1

1-v2 2+ Bada " Toss v’

(A
;;j

(a) 1
(b) 5
() 9
(d) 10

x Jx Jx , then what is the value of

.2 a—
m ?
(a) %— E’Y",., —_
. n
v
1
b L z
(b) y)
3
(c) Z‘
7
(d) 7




¥

74. maﬂil.izz,ia_iq‘iﬁﬂaqa;mqﬁd} w60 39 ) fFFam o @ 19w "ﬁﬁh“

ﬂia\ﬁwaﬂ%ﬁmﬁﬁwgmwﬂma’ma %lﬂmﬁaﬂﬁmﬁﬁmﬂmmmm
S, A N A i w@ F R g )

=1
1

TR 7

bl g e 10 A0 A I 1w OEE T g,
(b) ~30 W 18

() =55

@ 55 b 21

() 24 [
-y

75. lloma'ﬁ‘?@iﬁrr@ﬁmszrﬁmn ) 30 ~ wj
EISISEEC R G RN 165mé%3?3ﬁwa;ﬁ4~(§r:( 'A%‘/t /Z

T fovamt wmg @i 0 ‘

(a) 65 Jwvg %’2% _ L ;
b 7w o 78. AR x e, x W wfafew wm w5k x & 3
© 7-53%0E \ L -xwmwmi?ﬁym;yﬁ“ﬁﬁa
. % ‘ F T y ol § kg wm T | k|

Z/)( - WHTTR?

AP EEum e

76. 5 qEwm w wwrw @, gew oW @ x%y3
@ﬂ?ﬂn‘{%luﬁaﬁ«‘ﬁé@naﬁtaﬁ%m g "
T HEIE: TAF F, T 961 1 T 91 3 2 ®)  xIy-2

(a) 25 Z

Y =
A 25 -

(c) 3-5 \/\
g 2
— @ ¥y o7
DZOL-T-LKM (26-D)



74, The sum of a) Possib|a

Products tnjeap
n time out of the Mimberg | *]"-;» m:’lﬂ' 71.
. ot b u":],?-‘l
s e Ay
/ o
(7¢~1q
(n) 0 S
_ e
() 50 o) © {
O 07w
(© -56 Z |
g
(d) 66 [

75.

A trni%ﬂn
speed of 13 T. The time re uired to

a bridge of length 165 p, 5,

(a)
| (b6

0S8

65 seconds

(b) 7 seconds °

MS seconds

(d) 8-5seconds

.

A 60-page baok hax n lines per page. If the

uced by 3 in each
age, the number of pages ;u-,q]d have tn be
— Tt W

umber of lines wera pae

increased by 10 o give the same writing

space. What is the valye ofn?

R Cope (7P

o /6 = 36m

2751 /Lgxéo ;,@’1
@ 2 (n-3p= 607
S AXTE

78. If X men working «x‘ hours per day can do

X units of work in x days, then y men working
¥ hours per day in ¥ days would be able to do
k units of work. What is the value of k 2

—

@ <y
® s5y2 iy
© yx3 ﬂ;( Z/. L{] Kkﬁ X \a

76. The simple interest on g certain sum is
-fourth of th .

OL—E‘_m If the number of years
and the rate of annua) interest are
numerically equal, then the number of
years is
(a) 25
b) 3
(©) 35

ZOL-T-LKM




m?ﬁfﬁq%d(n)@mwna‘
g W i EeE W ot @
frafafag # @ SR T & 2

79.

1. d(5)=d@11)
2. d(5).d(11) = d(55)

3.

’“ﬁ%ﬁﬁ@wmmﬂ@miﬁm;
7

Faa 1 3 3 />/'\)

%ﬁalaﬂtz

d(5) + d(11) = d(16)

(a)

(c) Wzaﬂta

(d)

AR ,
1,2 3 3 /
>(/? el
A, =P, %1 Amnm

81.

82.

(%

83.

80.
1T 2, mﬁm%f@aaaﬁqt
fe=mr shifsg
1 Anaﬁm@méwél
2. A, + 2T CH AW T2 |
3. A_+1%HW % G9 &A1 2 |
Eﬁﬁﬁﬁaﬁqm@ma‘aéfé?-
-(a) %ad 1 ‘ ‘
(b)) a2
(c) had 3
d) Faa2 3K 3 )
DZOL-T-LKM (28—

D)

(a)

(a) -

R ohl 3l
3 N U
T @;{’ta’tmﬂyﬂémﬁ‘m

1ﬁ2ﬁ?\

<(t-y)ty > 3%

X(t+)")ty _/@

Trd X kmph
2 <t | e el

x(t— y) ty
W, xE-NH
©)

(d)

e A P R @, @R g

ﬁﬁﬁﬁmﬁwm‘m@a‘a’ﬁ
%W@m%aﬁ{gﬂ 7840111'&1'{3{
413@503@%%13@122501:11?@1‘1%
| T ? ‘

(@ 53HS /3 %

®b)  55TFE - /
© 63HTS /k%

d) 65HHS '

afy 68— 1% &5 =g (feam T B logyg 2= 03

3T logyg 3 = 0-477), 1 FAfeifed & & B
T HE B ? |

0<xx<l1

(b) 1l<x<2
(@) 2<x<3
d 3<x<4




. Letd(n)d
70 enote the numper of positive divisors 81, A car did a journey in t hours. Had the

ke pusu-l-ve—mlﬁg—es_n_. Which of the following average speed been x kmph greater, the
e Cotrectiy journey would have taken y hours less.‘H_(;v
1. (.l,(El:" d(l_l.)- @ long was the journey ?
2, d(ﬁ)-d(11)=d(55) (a) x(t-y)ty

-
3. d(5) +d(11) = d16) ® xE-ptyt o : — \a

-2
() x(t—-y)ty
Select the correct answer using the code given

below : { (d =xt+yty O
(a) 1land3 only fg \ 2
[/ @ O,gz When a ball is allowed to fall, the time it takes

b 1and 2
(b) an on-]y to fall any distance varies as the square root of

(¢) 2and3 only : X the ism__?_c‘i— and it takes 4 seconds to
‘/;O 4 fall 78-40 m. How long would it take to fall
(d 1,2and3 / I 19250 m ?
. - m 4 - —
: eIy
(a) 5 seconds
30. IfA,1 Py + 1, where P Py is the product of the (,L\ _ L” sy :‘ﬁh’b'
[ — o . ds-
ﬁrst Wbers then consider the \ ~ ® 55 secon )/Z = L’/ -
” /-—-——'
following statements : /LOX (c) 6 seconds ,\/V’ Y
. (2
1.  Ajisalways a composite number. "& (d) 6-5seconds T:/L( P(CJT‘ZZ 5/
' —
A, + 2is always an odd number.w_)‘/ f‘% “
-2 . 83. 'If 62 %% 4%*5 = 8 (Given log;p2 = 0-301 and
3. +1isal ,:b/ .
Ap+1is Ways an even numbe log;3 = 0-477), then which one of the
Which of the above statements is/are correct ? - following is correct ? \_7' \[ { 22 )/

@lmﬂy l(“ (a) 0<x<1 ‘?Cfffj
(b) ‘20n1y ' A% (11@ \)/ (b) 1<x<2 %

(c) 3only () 2<x<3 C?Mé'{’ ‘2,52
%&md3oﬂy d 3<x<4

ZOL-T-LKM (29-D)
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84

85.

86.

87.

-~

. aFEE iR e 8 @ R fe |88 01T T () PR SRR
* o W o S @ o
(@) T Il 1 g m O
©) T i F v ® 1
(@) U quilss =71 i
(@ T gurst 1 HCF (©) %
TR T S R e whda R, @ PR g @2
qA DTR & 2B o
L 6% T Sher i R | 89. ﬁqﬁmmqﬁaﬁﬁm
2. THEI 3aad 9fdm R 1. x¥F o awatis aF F
:ﬁéﬁqﬂqféaﬂmmaﬁmgﬁq 'sm9=x+;m%‘
(a) ad 1 2. x% i anfas M F Y
(b) aﬁa2 5 S N cose';x+;1c-'é‘13%|
(© 1 3R 23Et I i F A Ho qE 2R ?
@ Ta1aaE 2 () BTl
o ® L gl b) Had 2
qﬁcqseéG—shB:m.aﬁtSece_cose=n%’ _ () =
4 2 24 N, @ 1ereddE -
@ m3n3 + m3n3 fFa® TR ? N e a2
(a) O ' =%
‘B 1 '
(¢) mno 90. U9 Y=Y * axaﬁma;rqfrmwﬁ%mﬁ)w
(@ m2n2 . 7%:? rL}Z/
. @ I \
—'ﬂﬁ cose+sec9=k%,?ﬁsin29—tan29 <l 5 /w
O+ #1882 b 2a
: - (b) ?
(a) 4-k = :
® 4-k2 ® =
© k2-4
@ 2=
(d) k?2+2 5

DZOL-T-LKM
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ABC is a triangle inscribed in a semicircle of

diameter AB. What is cos (A + B) + sin (A + B)
—— p—

equal to ?7

gd.  Thoe Tuclidean-algorithm is usoed to caleulate | 88
tho ‘

(n)  square rool of an integer

(b)  cuboe root of an integer E
k (c)  square of an integer (b) %
| (d)  HCF of two integers 1 C
(e 2

g5. Ifradius ?Fa sphere is rational, then which of
the fo]lgwmg is/are correct ? -yi
—-'-—-'_—'-_—_-

1. Its surface area is rational. ‘A q O

89. Consider the following statements :

2. Its volume is rational.
Sellect the correct answer using the code given 1. sin @ = X + £l is possible for some real
below : .
g : value of x.
(@) lonly { i *
(b) Zonly 2. cos 0 =x + - is possible for somé real
\ Both 1 and 2 iy, VoA oLx. :
‘M Neither 1 nor 2 Which of the above statements is/are cgrrect ?.
, (a) 1lonly .
86. If cosec 8 —sin 6 =.m and sec 8 — cos_6 = n, (b) 2only QO ;l/ f,l
- ML N, o . = A
then whatis m3n3 + m3n3 equalto ? ‘(c) Both1land?2 .
- ; 3 J et gl /

(a) O ! ' ' y Meither 1 nor 2 /8’

(b) 1 A cL- 7 T ’
@A /{d\ * |90, What is the magnitude (in radian) of the

(c) mn
_ interior angle of a regular pentagon ?
P Y —_—

: @) mZn? |
' : | | @ \ g

'87. If cos 8 + sec 0 = k, then what is the value of | i ;

: sin?@ — tan?0 ? Z % ' ‘270( Y/‘tz
(@ 4-k - 162 “ . 5

b) 4-k2 %K AN T (N —35£ ' :

) k2-4 L d) 27/ 2

d k2+2 _ R N *' . 21/
(31-D) @0' @\ CM-/Q{

:
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o1. wgqa'f
xo_a.‘(*ax?-l \n‘( 8
= X
WHCFW%?

@ (x+1)

(b))  (x+1)?

(c) ‘_‘,»;2 ‘1
“ W (xe 1’

- -

92, Eﬁ agqa =
HCF 3R LCcM =9 8x+1

ot 30x3 4 7
30x +(x2—10x—3§ ;aﬁ‘qﬁﬁa@ﬁ"

2
Ox"+5x + 1%, 7t quu wgwg 71 2 2
(@) 15x%+4x+3

() 16x2 4+ 4x_3

3 +3x2+3x+1

.

n2 1+ nc n2 —C2 - 2¢ 4 3
Lot a’c -ed nZec+ 2ac? + ¢ a?-e? ;1_:—6
A NR?
(a) O
m 1
ac
@ —7
n2 +C2
6
(d)
a+c

95. axd 4 8x% - dx + 1 1 TG FAME 2

.2x2 +2x+1

(d) 2x2+2x-1

TRy

v, 75 @ s A FEm % s W A g

(-C) 15){2—4‘\(__,_3 %/} \ %
(d) _15:;2—4;(_3 ;(’27L g‘gﬂhﬁ 27 &1 AW & Ié@%‘q’lﬁajﬁa:[ ‘
) K\')WW%? i
. L
. ~/b (a) 35 ’}
93. qﬁ (p+2)(2q—1)=2pq_10 3‘?"{ /j’(v (b) _ 4 /(\ . )
(P-2)(29-1)=2pq - 10 ®, °1 pq FFTF )L' (c) 45 »
S R 2 / @ 54 -

@ -10 091(«/’1% L ;% ?ﬁﬁqi%fﬁaa
+c c+a b—a : LK
® -5 FI-H1 TH T & 7 i
. //t,(\ (Z (@) x+y+z=0
(c) @‘ : O 2( —{’1(7 [/7&7) x-y-z=0
X T i 2oul N T4 S ;
{ ‘s‘f'.(d) " 10 [ — M - @,/ [ad%( ﬁ2y+32=0 ' : ‘




Vhat is the HOF of the polynomials B4, What is the value of
X —3x4+3x2_[ﬂmj 3 2 2 ¢ ac a? - c? Zc 3 5,
X7 3 [- P fE_l_—____ . — - = — [4
Fdx®+3x 417 azc-cﬂ PP R aZ-¢? a+c
AT (x4 1) xr— —| )
— == (a) 0
+ 1)2
(b) (x+1) %"Z - ] (b) 1
2 ac
(© x“+1 %’3 ~+ | © —3, 2
(d)  (x+1)3
6
/l—,l‘ /3’*3/ (d) a+c l/l —{/?/\1
)+ 4
92. The HCF and the LCM of two polynom,}ls aé 95 qrhat is the square root of 4z + 8x° —dx +17
3x + 1 and 30x3 + 7x2 _ IOx -3 respectively. If (a) ze 2x-1 ) L’ 7[2_ -
one polynomial is 6x2 + 6x + 1, then what is b)) 2xZ-x-1 "Z 2/2’2% "’1
th i '
the other polynomial ? . () 2x2+2x+1 27%* k /l
4
(a) 15x2+4x+3 WCQ@,%Q7 B 2x2 +2x—1 7’
| 2t 1)
b 15 4 (Z .
(b) X2+ 4x - 3 M 3[],{* ;6. The sum of the digits of a two digit number is @2;,,//
)/Iﬁ’z Yoy @ 7 ‘Eﬂd the difference between the number and QC |
that formed by reversing the digits is 27. What /
(d) 15x2-4x-3 is the product of the digits of the number ?' -7 =4
(a) 35
- ) i 40 Aty — L<
93. If (p+2)(2q-1)=2pq-10_and () 45 —
e . N 54 /OZf'd "/Oa'f“x ”Lf}
(p—2) (29— 1) = 2pq — 10, then what is \ D — )
Pq equal to ? . (%.? u QZZ tan &= 2
| —— 1 - = which one of the
. “;,LL[{// b +¢ c+a )
(a) -10 — P —
~ 7/ q/ fwcomct? //Z"’ — 3
- . .
(9«_5 /0/ (a) +z=0 — !3
) RSN I SARNREY ¢
5 //___/v
c P/\/l.q/ (c) x+y—-z=0
@ 10 (z/ (d) X+2y+32=0 22 — //
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98, X Y ok z uw @ o @ wwawa W T
4 knvlir, 6 knvhie 2 khe 8 317 W R
Y. N ® 2w wre v wan ,.@.m\ma
TR SraT o sty Wi 3 XD

T qv o g o
3 .
() :{ Qﬁ
. 40 .
(b) .
= e
(o) L ‘
8 "
@ g
S
‘ [\ \ ‘_*

99. nTF wpd W g, @ o1ox-x xR

100, U =iy © oy ) @ g um s W e o
W g R 30 UR W xen ' ogay

x s sum R 9

) 20%
M 25%
() Ho®
(d)>  100%

fomsg 22

h (@) @a+x?2
b)) 1-x?2

N ) 1-2x-x2
d- 1+2x-x2
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o8, _)i Y nnd 7 teavel from the snme place with | 100, A person anld nn article fur € 16 which coat
uniform "‘I"‘f‘fl:mllhr I’- km/l;r fm:l—(:lk'm_/h: him 7 % He finda that he re ullm « x% profit un
— M ““ s i
AR X nlnrlj 2 houra after X. |'_r_"'v"’ his ml”ﬂLﬂ'—“Li*JJ—qml‘u"?
long allor Y must 7 start in order that they 207%
overtnke X at the same inatapt ? =

at
(hy 26%
(n) = hours
(¢c) 50%
m 3 hours (dy 100%
— hours
(c) 8 ours
11
— hour
(d) 8 s . -
99, 1-x- x® + X" where n is a natural number,
——
is divisible by . -
(a) (1i”“)2‘ 1+ 7‘2“ 7( rrl
b  (1-x? G e \
s &
() 1-2x- *\ 5.
Zau R '7( -
(d) 1+2x-x? .
L= g | :
/7
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